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Answer any three questions
P
P \" 1. Define elasticity of demand. Discuss the

determinants and importance of elasticity of
demand. 4+16

/

2. What are the assumptions of monopolistic
comp(?ition? Evaluate upon the price and

outpuf determination wunder monopolistic
compgetition. 4+16
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(2)

3. What do you mean by demand forecasting?
Also highlight the various techniques of
demand forecasting. 3+17

4. Define interest. Discuss the Keynesian theory
of interest. 4+16

5. Distinguish between Gross profit and Net
profit. Examine Schumpeter’s innovation
theory of profit. 9+15

6. Write notes on any two of the following :
10x2=20

(aj Definition and scope of business
€Conomics

(b) Behaviour of short-run cost curve
(c) Ricardian theory of rent

(d) Comparison between monopoly and
perfect competition
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SECTION—I
(Marks: 10)

1. Tick (v) the correct answer in the brackets provided :
1x3=3

(a) The curve on which combinations of goods are
shown is known as
(i) indifference curve ( )

(ii) demand curve ( )

(iij) long-run cost curve ( )

(iv) None of the above ( )

/139



(2)

(b) The firm can earn maximum profits only at that
level of output where

() MR > MC (i)
(i) MR < MC ()
(i) MR = MC )

(iv) None of the above ( )

(¢) In the short-run, average cost curve is
dependent on the

(i) law of increasing return ( )
(ii) law of decreasing return ( )
(iii) law of variable proportion ( )

(iv) None of the above ( )

2. State whether the following statements are True (T) or
False (F) by a Tick (v/) mark : 1x3=3

(a¢) Monopolistic competition is a competition
where pure monopoly prevails but not perfect
competition.

EEE)
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(3)

(b) In the short-run, average cost curve is always
U-shaped.

T/ By

(c) Under monopoly the MR curve lies below AR
curve.

g

3. Fill in the blanks : 1x4=4

(a) The elasticity at the mid-point of the demand

CUTIVE 1S KNOWIL GS .evirrnverenrinerenionseniiinnnns :

(b)) Under perfect competition, the demand for
the product of an individual firm is

..............................................

(c) If the supply of land is absolutely inelastic, the

transfer earnings wWill be .......ccooiiiiiiiin ;

(d) Inthe long run, all COSES ArE ......coovvimmneniieeeeen ;
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SECTION—TII
( Marks: 30)

4. Write short notes on the following in not more than
5 sentences each : 3x10=30

(a) Price elasticity
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(b) Factor pricing
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(6)

(c) Monopoly
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(d) Consumer surplus
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(8)

(e) Isoquants
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(9)

(f) Properties of an indifference curve

Ed
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(10 )

(g) Opportunity cost

111/ BCO (xii)/ 139



(11)

(h) Price discrimination
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(12 )

(i) Return to scale
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(13 )

(/) Relationship between AR curve and MR curve
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